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fia: Suii: AZLUY:
X+ 175 + 79x + 63 X — 17 + 79x — 63
X+ 8x% + 4y — 48 28x° — 115x% — 294x — 144
2 3 2
X +x 63x” + 173x~ — 630x + 400
2 + 4x X —37x— 84
6x° + 25x° — 29x — 20 8x% — 64x
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fia: Suii: ATUUY:
X+ 175 + 79x + 63 X = 17%% + 79x — 63
(c+ Dx+9)x+7) (x— 9N — 1)(x—7)
X+ 8x7 + 4x — 48 28x° — 115x% — 294x — 144
xt4)x+6)(x—2) (7x + 8)(x — 6)(4x + 3)
4 x 63x° + 173x° — 630x + 400
X+ 1) (9x — 10)(x + 5)(7x — 8)
2% + 4x X —37x— 84
2x(x+ 2) x+4d)x+3)x—7)
6x° + 25x° — 29x — 20 8x% — 64x
Qx+ D)(x + 5)(3x — 4) 8x(x — 8)
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